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In Exercises 3—6, nse the scatter plot to fill in the 8. INTERPRETING A SCATTER PLOT The scatter plot
missing coordinate of the ordered pair. shows the earned run averages and the winning
reentages of eight pitchers on a baseball team.
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7. INTERPRETI ﬁ_ H_FTLGT_ ) scatter plot a. What is the winning percentage of the pitcher with
shows the hard drive capacities (in gigabytes) and the o
. ) == an earned run average of 4.27
prices {in dollars) of 10 laptops. (See Example 1.)
b. What is the earned run average of the pitcher with

Laptops a winning percentage of 0.337
1505"' €. What tends to happen to the winning percentage as
7 1400 the earned run average increases?
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1000 In Exercises 9-12, tell whether x and y sh posifi
E m : a negative, or po correlation. (See Example 2.)
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a. What is the price of the laptop with a hard drive ! T31"
capacity of 8 gigabytes?
b. What is the hard drive capacity of the Mol L] 12. lelelel 2y
51200 laptop? " . MONOM
. What tends to happen to the price as the hard drive *lel® * »*
capacity increases? MER . 4
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